How much did it cost?
By Daniel Brown and Conall Bartlett
	Amount
	Clue eliminated by
	why

	£1.85
	3 
	Crisps cost more than 50p

	£2.10
	1
	Could make in two coins.

	£1.60
	1
	Could make in three coins

	75p

	1
	Could make in three coins

	80p

	1
	Could make in three coins

	£1.25

	1
	Could make in three coins

	£1.74

	4
	Copper coins would be needed.

	£1.80

	
	Answer!!!

	£1.20

	1
	Could make in two coins

	£2.25

	1
	Could make in three coins

	£3.06

	2
	There would be change from the most valuable coin.

	90p

	1
	Could make in three coins

	£1.00

	1
	Could make in one coin.

	£1.44

	4
	Copper coins would be needed. 

	£1.45

	5
	Cannot make this coin using one coin.

	£1.56

	4
	Copper coins would be needed.

	£1.50

	1
	Could make in two coin.

	£1.27

	4
	Copper coins would be needed.

	
	
	


